Buyer (Importer)

CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: LA-COO-63741-68b194fe2a03d

VERIFY.FTGS.US Date: August 29, 2025

Seller (Exporter) Manifest Beauty 21241 Ventura Blvd	Transport Type Air	Port of Loading Los Angeles International Airpor
Woodland Hills CA USA	Destination Country Saudi Arabia	Destination Port King Abdulaziz International Air
Consignee	Export Date ************************************	Exporting Carrier **********************************
Sara United Corporation Building No. 8077, Al Hufouf Street Al Khabarovsk Al Janubiyah District	Import Permit Number	Bill of Lading / AWB
34621, Alkhobar City Saudi Arabia	Owner or Agent	Forwarding Agent ************************************

Remarks



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Big Pout Energy - Lip Oils	10 lbs	United States
Plumping Butter Balms	10 lbs	UnitUnited States
Lip Facial - Plumping & Overnight Lip Masks	12 lbs	United States
MPOWER Pout - Lip sticks	15 lbs	United States
======================================		
CERTIFICATE OF ORIGIN Accredited Chamber US2100201		
Man Andrews Control		



Authorized Signature Farhad Ghorbani Fard

- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
 The above-mentioned goods originate in the country(ies) specified above and comply with the rules of
- origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Los Angeles Area Chamber of Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein.

Manifest Beauty Inc

5850 Canoga Ave Suite 300 Woodland Hills, CA. 91367 773-414-3136

Invoice

Submitted on 08/18/2025

Invoice for	Payable to	Invoice #
Sara United Corporation	Manifest Beauty Inc	1008
Building No. 8077, Al Hufouf St		
Al Khabarovsk Al Janubiyah Dist		Due date
34621, Alkhobar City		1/3/2000
Saudi Arabia		

Description	Qty	Unit price	Total price
Big Pout Energy - Crystal Clear	100	\$16.50	\$1,650.00
Big Pout Energy - Chocolate Chili	100	\$16.50	\$1,650.00
Big Pout Energy - Spicy Rose	100	\$16.50	\$1,650.00
Big Pout Energy - Scarlett Flame	100	\$16.50	\$1,650.00
Big Pout Energy - DXB Gold	100	\$17.00	\$1,700.00
Big Pout Energy - Nude Hotness	100	\$16.50	\$1,650.00
Big Pout Energy Nude Luster	100	\$17.00	\$1,700.00
Plumping Butter Balm - Call Me Rose	100	\$13.00	\$1,300.00
Plumping Butter Balm - Sparkle Spice	100	\$13.00	\$1,300.00
Plumping Butter Balm - Rouge Heat	100	\$13.00	\$1,300.00
The Lip Facial - Plumping Lip Mask	100	\$18.00	\$1,800.00
The Lip Facial - Overnight Lip Mask	100	\$17.00	\$1,700.00
			\$0.00

Notes: Subtotal \$19,050.00







To

Date: 19/8/2025

Saudi Food and Drug Authority Kingdom of Saudi Arabia

Subject: Authorization letter for the exclusive distributor & contact details in Saudi Arabia.

Respected Sir;

This is to inform you that we at MANIFEST BEAUTY, authorise:

Sara United Corporation (Short address: EEDA8077)

Building No. 8077, Al Hufouf Street, Al Khubar Al Janubiyah District.

Postal Code: 34621, Alkhobar City, Kingdom of Saudi Arabia.

CR Number: 7001401004

to act as our exclusive distributor for selling and marketing MANIFEST BEAUTY Branded products in Saudi Arabia and to submit the registration files on our behalf to the Unified Electronic System (GHAD) – Saudi Food and Drug Authority, Kingdom of Saudi Arabia.

Local Contact Details:

Sara United Corporation
Dr. Waleed Shaban
Head of The Regulatory Affairs
Phone: 0096614773225 ext. 272
Mobile: 00966562772543

E-mail: swalid@sara.com.sa

Thanks & regards

MANIFEST

Entity Number 5342522 EIN 88-4321015

Market of the contract of the

California - United States

Name: Quentin Staples

Company address: 5850 Canoga Ave, suite #300, Woodland Hills, California 91367, USA

Company CR Number: 5342522

Thomas Fallagher Noder Public THOMAS GALLAGHER
Notary Public - California
Los Angeles County
Commission # 2501257
My Comm. Expires Oct 30, 2028



* See Attached Notary Acknowledsement

California All-Purpose Certificate of Acknowledgment

A notary public or other officer completing this certificate verifies only the identity of the individual who signed the document to which this certificate is attached, and not the truthfulness, accuracy, or validity of that document.

County of Los Angeles	S.S.
On 8-20-25 before me, Thoma	S Ga Nagher, Notas P.S.1-2
personally appeared Quentin	그리고 그리고 그는 그는 그리고 하면 그렇게 다른 경험을 하는 것이 되었다면 가장에 되었다면 하는데 되었다. 그는
who proved to me on the basis of satisfactory evidence is/are subscribed to the within instrument and acknow the same in his/her/their authorized capacity(ies), and instrument the person(s), or the entity upon behalf of instrument. I certify under PENALTY OF PERJURY under the law of the State of California that the foregoing paragraph true and correct. WITNESS my hand and official seal. Signature of Notary Public OPTIONAL INFORMAL Although the information in this section is not required by law, it could	vledged to me that he/she/they executed that by his/her/their signature(s) on the which the person(s) acted, executed the vs. Is THOMAS GALLAGHER Notary Public - California Los Angeles County Commission # 2501257 My Comm. Expires Oct 30, 2028 Seal
this acknowledgment to an unauthorized document and may prove undescription of Attached Document	
	Additional Information Method of Signer Identification
The preceding Certificate of Acknowledgment is attached to a document titled/for the purpose of	Proved to me on the basis of satisfactory evidence: [form(s) of identification [credible witness(es)
containing pages, and dated	Notarial event is detailed in notary journal on:
The signer(s) capacity or authority is/are as: Individual(s) Attorney-in-fact	Page # Entry # Notary contact: Other
Corporate Officer(s)	Additional Signer Signer(s) Thumbprints(s)
Guardian/Conservator Partner - Limited/General Trustee(s) Other:	

NEW YORK OF THE PROPERTY OF TH



State of California